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1. (a) State the defects of vital statistics and suggest the steps to remove thesé defects.
Which of the following two towns is better with respect to health? Why?

1. (a)
(a)
1. (b)
2. (a)
2. (a)
(a)
(b)

Age City A City B
Population | No.of | Population | No. of
deaths deaths
Below 3 17000 400 40000 1100
5-30 30000 150 100000 400
30-355 35000 400 150000 1600
Above 55 18000 600 60000 2300
OR

(i) Explain the different method to collect vital statistics.
(ii) Calculate CDR and SDR from the following information and compare them.
Age City A City B Standard
Population | Deaths per | Population | Deaths per | population
(*000) thousands (‘000) thousands (*000)
0-5 5 45 7 40 10
5-25 40 20 50 18 35
25-45 25 10 30 12 40
Above 50 20 30 13 25 15

Answer in short. (attempt any four)
(1) What is demographic statistics?
(2) What is demography?
(3) Define crude death rate.
(4) Which death rate is calculated by using weighted average?
(5) At what interval census is carried out?
{6) When can sample inspection method be used?
Explain: crude birth rate (CBR), General fertility rate (GFR) and Specific fertility 14

rate (SFR).
Calculate GFR, SFR and TFR from the following data.
Age group 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49
No. of Females 16000 | 15000 | 14000 | 13000 | 12000 | 11000 | 9000
No. of live births 400 | 1710 | 2100 | 1430 | 960 330 36
OR
(i) What is life table? Describe various columns in a typical life table.
(ii) Fill up the missing entries in the following life table.
Agex | I dy 9z Pr | Ly Ty ex
60 29533 7 ? ? ? 384318 ?
61 28182 ? ? ? ? ? ?
62 26835 ? 0.0532 ? ? ? ?

Answer in short. (attempt any four)
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(a)
(a)
(b)

(a)

(@)
(a)
(b)

(i) CBR of a city is 25 and total population is 200000. If 30% female of
the population are in child bearing age, then find GFR.

(i)  Inalife table [, = 70368, I, = 70768, T,, = 2394139 find e,.

(iii)  What is fertility rate?

(iv)  State any two assumptions of life table.

v) If the crude birth rate of a city is 25 and if the number of new bom

children is 8750 then find the total population of that city.

(vi)  Define total fertility rate.
Give a descriptive note on Agricultural Statistics. What are the major defects in
Indian Agricultural Statistics?

OR

(i) Explain the role of NSSO in collecting Indian Official Statistics.
(if) Write a note on: National Council of Applied Economics and Research.
Answer in short. (attempt any three)

(1) Name the four centres of Indian Statistical Institution.

(2) By whom CSO0 is headed?

(3) What is the full form of NSSO?

(4) What is the main work of Department of Commercial Inteliigence and

Statistics? '

(5) Who support financially to establish NCAER?
What is national income? Explain its basic concepts. Also state its uses. Explain
various methods of measuring national income.

OR

(1) Explain Lorenz curve of the distribution of income. Also state its properties.
(ii) State Pareto’s law of income distribution and discuss its limitations.
Answer in short. (attempt any three)

(1) Give the traditional definition of national income.

(2) State the two limitation of Marshall’s definition of national income.,

(3) State the names of two methods for measuring the national income.

(4) What is Lorenz curve?

{5) What is 80-20 rule?
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